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All questions are compulsory.
All questions carry equal marks.

Use of simple calculator is allowed.
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Explain how the scope of finance function has changed
overtime. What role does a finance manager paly in a

modemn firm ? 6
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ABC & Co. is considering a proposal to replace one of
its plants costing Rs. 60,000 and having a written down
value of Rs. 24,000. The remaining economic life of the
plant is 4 years after which it will have no salvage
value. However, if sold today, it has a salvage value of |
Rs. 20,000. The new machine costing Rs, 1,30,000 is also
expected to have a life of 4 years with a scrap value of
Rs. 18,000. The new machine, due to its technological
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superiority, is expected to contribute additional annual
‘benefit (befor.e depréciation and tax) of Rs. 60,000. Find
~out the cash'ﬂows associated with this decision given
that the tax rate applicable to the firm is 40%.
(The capital gain or loss may be taken as not subject to -

tax). : : 9
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“Potential analyst should take into accouﬁt the time value
of money.” E);plain with suitable examples. 6
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A machine purchased six years back for Rs. 1,50,000 has
been depreciated to a book value of Rs. 90,000. It
originglly had a progjcted life of 15 years (salvage nil).
There is a proposal to replace this machine. A new
machine will cost Rs. 2,50,000 and result in reduction of
operating cost by Rs. 3Q,OOO p.a. for next nine years. The
existing machine can now be scrapped away for

Rs. 50,000. The new machine will also be depreciated

over 9 year period as per straight line method with

salvage of Rs. 25,000. Find out whether the existing
machine be replaced given that the tax rate applicable is
30% and cost of capital 10% (profit or loss on sale of

assets is to be ignored for tax purposes). 9
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Year PVF at 10%
1 0.909
2 0.826
| 3 0.751
4 0.683
S 0621
6 0.564
7 0.5.13
8 0467
9 0424

10 0.386

% AYA 1,50,000 T H 6 ad gEet Tt T Al

oaEE T B AR TR T TEd 90,000 .
P.T.0.
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PVF 10% GX

0.909

0.826

0.751

0.683

0.621

0.564

0513

0467

0424

0.386

5798
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The cost of preference share capital is generally lower

than the cost of equity. State the reasons. 6
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A new project is under consideration in XYZ Ltd., which
requires a capital invest.mem‘. of Rs. 4.50 crore. Interest
on term loan is 12% and-corporatg tax rate is 50%. If the
debt equity ratio insisted by the financing agencies is

2 1 1, calculate the point of indifference for the project. 9
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Is it true that a firm with high degree of operating leverage

should have high degree of financial leverage ? 6
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The following figures are taken from the current balance

sheet of a company :

Capital

.Share Premium
Reserves
Shareholder’s funds |

12% Perpetual debentures

9

Rs.

Rs. 8,00,000
2,00,000
6,00,000
71600000
4,00,000

P.T.O.
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An annual ordinary dividend of Rs. 2 per share has just

been paid. In the past, ordinary dividends have grown at
a rate of 10 per cent per annum and this rate of growth
is expected to cc:minue. Annual interest has recently
been paid on the debentures. The ordinary shares are

currently quoted at Rs. 27.50 and the debentures " at 80

per cent. Ignore taxation.

You are required to estimate the weighted average cost

of capital (based on market values) for the company.
frfafen s ®oft % = w2 fog
T T

ISt '8,60,000 T

I Uifgg 2,00,000 %.

Rt 6,00,000 .
RUfE # wE 16,00,000 .

12% =R fes=x 4,00,000 .
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How the cost of equity capital behaves in the

" Traditional Theory and- MM Approach of Capital

Structure ? 6
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From the following data, compute the durationrof_ the

operating cycle for each of the two years and comment

on the increase/decrease.

Raw‘ materials
Work-in-brogress
Finished goods
Purchases

Cost of goods sold
Sales

Debtors

Creditors

Year 1
Rs.
20,000
14,000
21,000
96,000
1,40,000
1,60,000
32,000

16,000

9

Year 2
Rs.
27,000
18,000
24,000
1,35,000

1,80,000

2,00,000

50,000

18,000

Assume 360 days per year for computational

purposes.
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27,000
18,000
24,000
135,000
1,80,000
2,00,000
50,000

18,000
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“Credit monitoring and control is an effectivé mechanism in
overall receivables management.” Discuss its objectives and

techniques used in it. ' )
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A company intends to produce a new product price at
Rs. 1,000 per unit with expected annual sales of 5,000
units. Variable costs amount to Rs. 750 per unit and
2-month’s credit is. to be granted. It is estimated that
10 per cent of customers will default, others will pay on
the due day. Interest rates are 15 per cent per annum. A
credit agency has offered the compény a system. which
it claims can help ideﬁtify possible bad débts. It will cost
Rs. 2,50,000 per annum to run and will identify 20 per
cent of customers as being potential bad debts. If these
customers are rejected no actual bad debts will result.

Should the credit agency’s system be used ? 9
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How does Gordon model differ from Walter’s
approach to relevance of dividends ? What are their
similarities ? o 6
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ABC Ltd. purchases 9000 units of spare parts, for its
annual requirements, ordering one month usage at a time.
Each spare part costs Rs. 20. The ordering cost per order
is Rs. 15 and the carrying charges are 15% of unit cost.
You have been asked to suggest a more economical
purchasing policy for the company. What advice would
you offer. and how much would it save the company per
year ? ’ » 9
ABC fafiee st aiffs sl & R @
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“Miller-Orr model of Cash Management is more realistic

than Baumol Model.” Explain. 6
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A firm had paid dividend at Rs. 2 per share last year.

The growth of the dividends from the company is
estimated to be 5% p.a. Determine the estimated market
price of the equity share if the estimated growth rate of

dividends :
(i) rises to 8% and
(ify falls to 3%.

Also find out the present market price of the share,
given that the required rate of return of the equity inves-

tors is 15.5% | 9
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5. Define float. Distinguish between payment float and collection

float. What is the objective of float management ? 15
Felie Y TR i) SRR el SR T el
# oM TR T YA B ORYE FW Y ?
Or

(3rerEm)
Write short notes on : 15
@) Stock split
(i) Operating cycle
e w e oo fafery
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